

Yellow Highlight -



American Heritage (Large) Pond Rock- Tim Wallace Landscape Supply
Estimate 120 Tons @\$150 Per Ton= \$18,000

Weed Fabric- \$1000

Steel Edging \$3500

Red Dots -



Japanese Ivory Silk Lilac Tree

2 @ 300 Per Tree-\$600

Pink Highlight -



Prairie Dropseed Grass 15\$ per gallon- 100= \$1500

Orange Highlight -



Walkers Low Catmint 30 @ \$14- \$420

Green Dots -



Arborvitae to screen generator 10 @\$100- \$1000

Green Highlight -

Grass will be planted to surround the employee seating area because it is a large enough area to easily cut.

Blue Dots -



Lilac Bushes or something similar

After consultation with The Fields an appropriate plant will be chosen.

Estimate is \$1500-2000.